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1. XHRfiH|

T K| /5002 /2 91 8 L500 x W500 x H50 /@31.8 ea 24,000 |27P8 & 20224 03Y 272p
TH&EHX| Bl /5002 /2 5 L500 x W500 x H50 ea 24,000 |2 718 & 202214 03Y 272p
T2 HEX| E /5002 /2 7 L250 x W500 x H50 ea 12,000 |27}HE 202214 03 272p
TH K| B /600 /2 L500 x W600 x H60 ea 37,500 |2 7F8 & 202214 03Y 272p
Th2EER| B /60022 74 L500 x W600 x H60 ea 37,500 |2 7P8 = 20224 03Y 272p
TH K| B /10002 /A/2 L500 x W1000 x H75 ea 56,250 [27h8 8 202214 03Y 272p
TH2HEX| B /10002 /A /L7 L500 x W1000 x H75 ea 56,250 |27}EE 202214 03 272p
TH K| B /10002 /B /2 L500 x W1000 x H75 ea 48750 |27} 20224 03 272p
TH2HEX| B /10002 /BE /2 7Y L250 x W1000 x H75 ea 24,500 |2 7P8 & 2022 03Y 272p
T2 HER| /2000 /2 L500 x W1000 x H75 ea 52,500 [27b8 & 20221 03Y 272p
T2 HEX| E1/20002/2 7} L250 x W1000 x H75 ea 26,250 |2 7P8 & 202214 03Y 272p
2 7| 50KW | 17,978,000 |ZHH ALY & 2022 p.712
He L 1,71552 |BSSH = AR B 20224 p.712

20223 A= QCHI}

2.91 24|

swolo ol 187,435 |Cistzi ¥ 3] 20223 At AIS
Lol ol 148,510 |cH3t7A M E 3] 202213 Aut7| A|S
o167 A S T AF ol 140,351 |cHst 7 83| 20223 At AIS
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3 At H| Eb I} (R)
35 4 =& = 2| 2| ZH| A [ jin
CHot =% CHot =4 CHot =4 =4
DS E MK
o= 0.17 2l 187,435 31,864 31,864 |21 / 12m(1Y A|Z2H
ol 0.25 ol 148,510 37,128 37,128 (391 / 12m(1Y A|22H
2H| L 2H|o| 3% 3 % 68,991 2,070 2,070
Al 2,070 68,991 71,061
SEH ¥ ATHI
ol 0.17 ol 148,510 25,247 25,247 (291 / 12m
Al 25,247 25,247
4L 7] SOKW - A Z+eh
B 7| 50KW 0.0002362 | Al 17,978,000 4,246 4,246 |ZEHAYE 2022 p.712
a8 8.7 L 1,715.52 14,925 14,925 |Z &M APE E 202214 p.712
I 2 H| =20l 24% 24 % 14,925 3,582 3,582 [EeH= At E 202214 p.712
Q7| A 2 A 0.20833 sl 140,351 29,239 29,239 (Bet™AEE 202214 p.712
[2 A 18,507 29,239 4,246 51,993
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1. XFxyH|

ISR E /500 /8t L500 x W500 x H50 /@31.8 24,000 48,000 48,000
[ A1 48,000 - - 48,000
2. MX|H|

TFSER|E MK 2,070 2,070 68,991 68,991 71,061
nESH X etEKz| 25,247 25,247 25,247
Eraedl 18,507 18,507 29,239 29,239 4,246 4,246 51,993
[2 A1 20,577 123,477 4,246 148,301
(g 41 68,577 123,477 4,246 196,301
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1. XixjH|

D EER| E /5002 /25 L500 x W500 x H50 1 ea 24,000 24,000 24,000

hEER| E /5002 Y 1250 x W500 x H50 2 ea 12,000 24,000 24,000

[2 A1 48,000 - - 48,000

2. MX|H|

I S IONI=IP PN 1 m 2,070 2,070 68,991 68,991 71,061

D EESH X Az 1 A 25,247 25,247 25,247

gEE | 50KW 1 HR 18,507 18,507 29,239 29,239 4,246 4,246 51,993

[2 A1 20,577 123,477 4,246 148,301

(g A1l 68,577 123,477 4,246 196,301
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1. XixjH|

D&EHX| H/600Z /2 L500 x W600 x H60 1 ea 37,500 37,500 37,500

hEER| E /6002 7Y L500 x W600 x H60 1 ea 37,500 37,500 37,500

[2 A1 75,000 - - 75,000

2. MX|H|

I S IONI=IP PN 1 m 2,070 2,070 68,991 68,991 71,061

D EESH X Az 1 A 25,247 25,247 25,247

gEE | 50KW 1 HR 18,507 18,507 29,239 29,239 4,246 4,246 51,993

[2 A1 20,577 123,477 4,246 148,301

(g Al 95,577 123,477 4,246 223,301
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TpEHEX B 10002 AY Im &)
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35 4 =2 kel WEL] 2| 2| - |2
cHot =4 EHot =% =) =%

1. XixjH|

D} HER| /10002 /A /25 L500 x W1000 x H75 1 ea 56,250 56,250 56,250

hEER| E /10002 /A% /S 7K L500 x W1000 x H75 1 ea 56,250 56,250 56,250

[2 A1 112,500 - - 112,500

2. dX|H|

DhEEX| E AR 1 m 2,070 2,070 68,991 68,991 71,061

D EESH X Az 1 A 25,247 25,247 25,247

gEE | 50KW 1 HR 18,507 18,507 29,239 29,239 4,246 4,246 51,993

[2 A1 20,577 123,477 4,246 148,301

(g Al 133,077 123,477 4,246 260,801
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cHot =4 EHot =% =) =%

1. XixjH|

D} HER| /10002 /BE/2 & L500 x W1000 x H75 1 ea 48,750 48,750 48,750
h<EER| /10002 /B /) 1250 x W1000 x H75 2 ea 24,500 49,000 49,000
[2 A1 97,750 - - 97,750
2. MX|H|

DhEEX| E AR 1 m 2,070 2,070 68,991 68,991 71,061
D EESH X Az 1 A 25,247 25,247 25,247
gEE | 50KW 1 HR 18,507 18,507 29,239 29,239 4,246 4,246 51,993
[2 A1 20,577 123,477 4,246 148,301
(g Al 118,327 123,477 4,246 246,051




2 % o 7t &

IpEEER|E 20005 (Im &)
3 At H| B 7t (R)
35 4 =2 kel M =H| 2 24| o7 Bl
cHot =4 EHot =% =) =%

1. XixjH|

X E/20002/2 5 L500 x W1000 x H75 2 ea 52,500 105,000 105,000

hEER| /20002 /' 7H 1250 x W1000 x H75 4 ea 26,250 105,000 105,000

[2 A1 210,000 - - 210,000

2. MX|H|

I S IONI=IP PN 1 m 2,070 2,070 68,991 68,991 71,061

D EESH X Az 1 A 25,247 25,247 25,247

gEE | 50KW 1 HR 18,507 18,507 29,239 29,239 4,246 4,246 51,993

[2 A1 20,577 123,477 4,246 148,301

(g A1l 230,577 123,477 4,246 358,301




